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  1 (102) jHdmdßl .Ks;h iy ixLHdkh 102/BMS 
 

 
 

 

 

 
 
 
 

 (uq¿ ,l=Kq 40) 
fldgi 

1 jk m%Yakh i|yd fhdað; W;a;r( 
 
 

1.1 rcfha wvqlsrSu      =        100 - 45% = 55% 

miq.sh udi 3 ys ì,am;a jákdlu   = re. 18,000 

wvql< w.h      =        18,000×
55

100
 

                                =        re.9,900 

W;a;rh (2) –  re.9,900/- (,l=Kq 03) 

  

1.2  

 𝑃 =
𝑃1

𝑃0
× 100 

 

𝑃 =
140

80
× 100 = 175% 

 
W;a;rh (4) –  175% (,l=Kq 03) 

1.3           

𝑟 =
[n ∑ xy −   ∑x . ∑ y]

√{[n ∑x2  − (∑ x)2] × [n ∑ y2  −  (∑ y)2]}
 

 

𝑟 =
10 X 130.64 –  25 X 50

√(10 X 65.68 −  252) (10 X 260.48 –  502)
 

 

                                                      =   +0. 977 
 

W;a;rh (1) – +0. 977 
 (,l=Kq 03) 

1.4 o;a; iuQyhl jeäu jdr .Kkla fhfok ixLHdj ud;hhs'  ud;h = 17  

W;a;rh (4) - 17 (,l=Kq 03) 
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1.5  S = xrn   S = fmd<Sh,  x = 75,000,   r = 12,   n = 2 
 
 fmd<Sh   = 75,000 X 0.12 X 2 
 fmd<Sh   = re.18,000     
 

W;a;rh (3) – re.18,000/- (,l=Kq 03) 
 

1.6 x= 6,000, n = 5,       r = 0.05  

𝑃𝑉 =
𝑋(1 − (1 + 𝑟)−𝑛)

𝑟
 

 

 𝑃𝑉 =
6,000(1−1.05−5)

0.05
   

  

 𝑃𝑉 = 25,977 Ω 25,980 
          

W;a;rh (4) – re.25,980/- (,l=Kq 03) 

1.7         𝑃(𝐴 ∪ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∩ 𝐵) 

𝑃(𝐴 ∪ 𝐵) = 0.38 + 0.22 − 0.06  
𝑃(𝐴 ∪ 𝐵) = 0.54 

              W;a;rh (3) – 0.54                                                                       (,l=Kq 03) 

1.8 𝑆 = 𝑋(1 + 𝑟/𝑁)𝑛×𝑁  x= 75,000 , n = 2  ,    r = 0.12  ,    𝑁 = 4 
 
 𝑆 = 75,000 × (1 + 0.12/4)2×4 
  
            S   = 95,007.76 

 

S   = re.95,008 
 

W;a;rh (1) – re.95,008/- 
 (,l=Kq 03) 
1.9  

 

  (03 marks) 

 

 

 
W;a;rh (1) – 7,084,  6,522,  8,624,  9,188 

(,l=Kq 03) 

R;=j 
(ld¾;=j ) 

R;=uh 
o¾Ylh(S) 

Wmk;sh 
(T) 

mqfrdal;k úl=Kqï 
(T×S) 

1 0.93 7,617 7,084 

2 0.84 7,764 6,522 

3 1.09 7,912 8,624 

4 1.14 8,060 9,188 



 
 

  3 (102) jHdmdßl .Ks;h iy ixLHdkh 102/BMS 
 

1.10      PV = 400,000,  n = 5,  r = 0.12 

𝑃𝑉 =
𝑋(1 − (1 + 𝑟)−𝑛)

𝑟
 

 

 400,000 =
𝑋(1−1.12−5)

0.12
 

   

 𝑋 = 400,000 ×
0.12

(1−1.12−5)
  

 𝑋 = 𝟏𝟏𝟎, 𝟗𝟔𝟒 

W;a;rh  (3) = re.110,964                                                                                         (,l=Kq 03) 

1.11 
A 3 

 B 4 
 C 1 
 D 2 

(,l=Kq 04) 

1.12     𝑆𝑘   =   
3(𝑋̅−𝑀𝑑)

𝑆
 

 

𝑆𝑘 =    
3(710 − 690)

√144
 

                    =   
60

12
 

                  =   5                                                                                                                     (,l=Kq 02)  

1.13 a  = 4,  d = 3, n = 10 

            Tn  = a + (n-1)d  

                  = 4 + (10-1) × 3  
 

     = 4 + 9 × 3  

                 = 31                                                                                                                  (,l=Kq 02) 

1.14  i;Hhs  (,l=Kq 01) 

1.15 wi;Hhs                                                                                                            (,l=Kq 01) 

(uq¿ ,l=Kq 40)  
 
 A fldgfiys wjidkh 

 

𝑆𝑘  = l=ál;d ix.=Klh 
𝑋̅    = uOHkHh 
Md = uOHia:h 
S     = iïu; wm.ukh 
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(uq¿ ,l=Kq 40) 

02 jk m%Yakh i|yd fhdað; W;a;r( 

 

 (a) 
3(4𝑥 +  2)  =  30 
12𝑥 +  6     =  30 
12𝑥               =  24 
    𝒙                =  𝟐     

                                                                                                               (,l=Kq 03) 
(b)        

3𝑥 + 5𝑦  =  −7          1 

11𝑥 − 8𝑦 =  27           2 

1  x 8       24 𝑥 + 40y = -56       3 

2  x 5       55 𝑥 – 40y = 135      4 

          3   x   4        79 𝑥 = 79 

                                  𝒙 = 𝟏  

 𝑥 = 1  ,  1 jk iólrKhg wdfoaYfhka 

        3 𝑥 +  5𝑦    =  −7 

        3 x 1 + 5 𝑦  =  −7 

        5 𝑦               =  −7 − 3 

        𝑦                  =   −10 

                                        5   

                          𝒚 = −𝟐 

𝒙     =   𝟏    𝒚  =  −𝟐   
(,l=Kq 04)  

(c)  
        𝑥 = 800,  r = 5%,  n = 4,  S=? 

𝑆 = 𝑥(1 + 𝑟)𝑛 

𝑆 = 800(1 + 0.05)3 

    =  800 x 1.053 

= re.926.10 
  (,l=Kq 03) 

 (uq¿ ,l=Kq 10)  

 

fldgi - B 
 

mßÉfÊoh 01 - uQ,sl .Ks; ixl,am iy uQ,O¾u 
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3 jk m%Yakh i|yd fhdað; W;a;r(  
 

(a)  

(i) TC = VC + FC  
TC = 2q2 - 12q + 12,000   

 
(ii) uq¿ wdodhï Ys%;h (TR) =  b,a¨ï Ys%;h x tall .Kk 
             𝑇𝑅 = 𝐷 × 𝑞     

𝑇𝑅 = (q + 8) × q 

𝑻𝑹 = 𝐪𝟐 + 𝟖𝐪   
(,l=Kq  04)  

    ,dN Ys%;h = TR – TC 
                               = q2 + 8q – (2q2 -12q-12q+12,000) 

 = q2 +8q -2q2 +12q – 12,000 

 = -q2 + 20q-12,000 

                           
𝑑𝑝

𝑑𝑥
 = -2q +20 = 0 

                          2q   = 20 

                              q = 10 

𝐷2p

D𝑋2
   =-2 < 0 

              q = 10  

 
úl,am úiÿu  
𝑇𝑅 = q2 + 8q    
MR = 2q + 8  
TC = 12,000 +2q2 - 12q 
MC     = 4q - 12   

  
            MR = MC úg ,dNh Wmrsu fõ 
                    2q + 8 = 4q - 12   
                             X = 10 

tAll .Kk  10  
(,l=Kq  03)  

 (b) 𝑇𝑅 = 2q2 + 4q   𝑇𝐶 = 2q2 + 2q + 200,000 
           
iuÉfÊok ,laIHfha §" 

                   TR  = TC 
       2q2 + 4q    = 2q2 + 2q + 200,000 
2q2 − 2q2 + 4q  - 2q   = 200,000 

                                  2q    = 200,000 
                                        q     = 100,000 
iuÉfÊo tAll .Kk =  tAll 100,000   

(,l=Kq  03) 

(uq¿ ,l=Kq 10)  

TC = uq¿ msrsjeh 
VC = úp,H msrsjeh 
FC = ia:djr msrsjeh 

mßÉfÊoh 03 - jHdmdr i|yd uQ,H yd fufyhqï ls%hdldÍ;aj ñkqï                                                           
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4 jk m%Yakh i|yd fhdað; W;a;r(  
 
 
(a)  ∑ X =420  ,   ∑ Y =360  ,   ∑ XY = 27,354  ,   ∑ X2 = 33,408  ,   n = 6 

 

 

 

 

 

 

 

 
 

    b =  
n ∑ XY −  ∑ X .∑ Y

(n ∑ X2 −  (∑ X)2)
 

    b = 
(6 X 27,354) –(420 X 360)

(6 X 33,408) −(4202)
 

     b =  
164,124 – 151,200

200,448 −176,400
 

     b =  
12,924

24,048
 

     b =  0.54 

    a =    𝑌̅ − 𝑏𝑋̅ 

     a =    
360

6
− [0.5374 ×

420

6
] 

     a =    60 - 37.56 

     a =    22.38 

 
wvq;u j¾. m%;smdhk f¾Ldj 

 

    𝑌 = 𝑎 +  𝑏𝑥 

    𝒀 =  𝟐𝟐. 𝟑𝟖 +  𝟎. 𝟓𝟒𝒙                                                                                                    

(,l=Kq  07)  

 
 
 
 
 
 

𝒙 𝒚 𝒙𝟐 𝒙𝒚 

38 42 1,444 1,596 

42 44 1,764 1,848 

60 52 3,600 3,120 

80 71 6,400 5,680 

90 75 8,100 6,750 

110 76 12,100 8,360 

420 360 33,408 27,354 

mßÉfÊoh 05 - m%udKd;aul úp,H folla ixikaokh lsÍu                                                                  
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(b) fi!LH fiajd úhou re.75,000/-. 
 x = 75 hkak wdfoaYfhka 
     Y = 22.38 + 0.54x 
     Y = 22.38 + 0.54×75   

  Y = 62.88 

 idudkH wdhq wfmalaIdj = wjqreÿ 63 
 (,l=Kq  03)  

(uq¿ ,l=Kq 10)  

5 jk m%Yakh i|yd fhdað; W;a;r( 

 
(a)       uOHia:h  

        𝑛 =  40 
𝑛

2
= 20 ,  

L1  =19.5,   Fc = 5,   fm = 15,    

mrdih = 29.5 – 19.5  

                                 = 10     

         Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

Md = 19.5 +
(20 − 5 )

15
 × 10 

𝑴𝒅 = 𝟐𝟗. 𝟓 

  

 udisl fõ;kj,  uOHia:h  = re.29,500                                                                 (,l=Kq  03)  

(b)     uOHkHh 

 

 

 

 

 

 

 

 

 

 

            

uOHkHh       =   
∑𝑓𝑥

∑𝑓
       =  

1360

40
  = 34            

(,l=Kq  03) 

 
 

udisl fõ;kh 
(re.’000) 

𝒙 

uOHia: 
w.h fiajl 

ixLHdj 𝒇𝒙 𝒇𝒙𝟐 

10 - 19 14.5 5 72.5 1,051.25 

20 - 29 24.5 15 367.5 9,003.75 

30 - 39 34.5 8 276 9,522 

40 - 49 44.5 4 178 7,921 

50 - 59 54.5 5 272.5 14,851.25 

60 - 69 64.5 3 193.5 12,480.75 

∑𝒇 = 40 ∑𝒇𝒙 =1,360 ∑𝒇𝒙2 = 54,830.00 

mßÉfÊoh 04 -  o;a; bÈßm;a lsÍu iy úia;rd;aul ñkqï                                                                     
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(c) iïu; wm.ukh  =    √
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2

        

 

       iïu; wm.ukh =     √
54,830

40
−  [

1,360

40
]

2

 

                                        =     √1,370.75 − 342 

                                            =      √1,370.75 −  1,156 

                                            =      √214.75  
                          =      14.65                                                                                          (,l=Kq  04) 
 

              (uq¿ ,l=Kq 10)  
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

B fldgfiys wjidkh 

 

√ 
∑𝑓𝑥2

∑𝑓
  − 𝑥 

√
54,830

40
  − 342 

√1,370.75 − 1,156 

√214.75 

       = 14.65 

 
= 
 
 
= 
 
 
=   
 
= 

OR 
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(uq¿ ,l=Kq  20) 

6 jk m%Yakh i|yd fhdað; W;a;r( 
(A) 

 
  
(a) 

j¾Ih A jHdmD;sh  B jHdmD;sh 
jÜgï idOlh 

@10% 
A jHdmD;sfha 
j¾;udk w.h      

 B jHdmD;sfha 
j¾;udk w.h      

0 (160,000) (130,000) 1 (160,000) (130,000) 

1 20,000 45,000 0.909 18,180 40,905 

2 50,000 65,000 0.826 41,300 53,690 

3 90,000 50,000 0.751 67,590 37,550 

    (32,930) 2,145 

 
 
 
 

              A jHdmD;sfha Y+oaO j¾;udk w.h = -32,930 

              B jHdmD;sfha Y+oaO j¾;udk w.h =   +2,145 

       OR 

A jHdmD;sh            𝑁𝑃𝑉 =
20,000

1.11 +
50,000

1.12 +
 90,000

1.13 − 160,000 

 

         𝑁𝑃𝑉 = 127,122.46 – 160,000 
         =  - 32,877.54 

B jHdmD;sh 

          𝑁𝑃𝑉 =
45,000

1.11 +
65,000

1.12 +
 50,000

1.13 − 130,000 

 
        𝑁𝑃𝑉 = 132,193.84 – 130,000 

         =  2,193.84 
 (,l=Kq  06) 

(b) B jHdmD;sfha Y+oaO j¾;udk w.h Ok w.hla .kakd w;r A jHdmD;sfha Y+oaO j¾;udk w.h RK 

w.hla .kS.  tuksid  B jHdmD;sfha wdfhdackh l< hq;=h' 

                (,l=Kq  02) 

(B) 
 
 

𝑿 𝑷(𝑿) 𝑿𝑷(𝒙) 

2 0.14 0.28 

3 0.13 0.39 

4 0.23 0.92 

5 0.24 1.20 

6 0.26 1.56 

 1.00 4.35 

 (,l=Kq  04) 

fldgi - C 
 

NPVA = PV-I 
          = -160,000 + 127,070 
NPV  = -32,930 

NPVB = PV-I 
         = -130,000 + 132,145 
NPV = +2,145 

𝐸[𝑋]  =  ∑ 𝑋 × 𝑃(𝑥)  =   𝟒. 𝟑𝟓 
 

mßÉfÊoh 02- jHdmdr i|yd uQ,H .Ks;h 

mßÉfÊoh 6- iïNdú;dj yd iïNdú;dfõ fhÿï 
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1.0   1.35 

    -1 0          

0.3413 

(C) 
 
 

(a) 
 
 
 
 
 
 
 
 

Ԑ – iólaIKhg wod, ishÆu mqoa.,hka 
C – mrs.Klhla iys; mqoa.,hka 
𝑆 − iaud¾Ü ÿrl;khla iys; mqoa.,hka 
 

(,l=Kq  03) 

(b)                 𝑃 (
𝑆

𝐶
) =

𝑃(𝑆∩𝐶)

𝑃𝐶
=

𝟏𝟕

𝟓𝟒
 

(,l=Kq  02) 

(D)  
 
 

   X : fudag¾ r:hlg fiajd iemhSug .;jk ld,h (meh) 

        µ=1.35  σ =0.35 

 

    Z        =    
 (𝑋  −  µ)

𝜎
 

                  Z        =     
𝑥−1.35

0.35
 

 

                  
 
 
  
          

                  Z        =   
1−1.35

0.35
 

                 Z        =  - 1.0 

       iïNdú;dj  = (X < 1.0)  
                           = 0.5 – 0.3413 
                           = 0.1587 or 15.87%  
mehlg jvd wvq ld,hla ;=,oS fudag¾ r:hlg fiajd iemhSfï iïNdú;dj 0.1587  fyda 15.87%. 

(,l=Kq  03) 

(uq¿ ,l=Kq 20)  
 

37 17 33 

50 54 
87 𝜀 

S C 

x 

z 

End of Section C 

mßÉfÊoh 6- iïNdú;dj yd iïNdú;dfõ fhÿï 

mßÉfÊoh 6- iïNdú;dj yd iïNdú;dfõ fhÿï 
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Notice:  
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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